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-XGXO � ��3HZDUQDDQ�6HPSXUQD�SDGD�*UDI�0ƂELXV�.DQWRU

8QWXN� ͵�SHZDUQDDQ� VHPSXUQD�� GLSLOLK� ZDUQD� SXWLK� �ܹ��� ELUX� ���ܤ� GDQ� ZDUQD�

PHUDK� �ܴ�� GHQJDQ� ȁܹȁ PHQ\DWDNDQ� EDQ\DNQ\D� WLWLN� GHQJDQ� ZDUQD� SXWLK�� ȁܤȁ

PHQ\DWDNDQ� EDQ\DNQ\D� WLWLN� GHQJDQ�ZDUQD� ELUX� GDQ� ȁܴ_�PHQ\DWDNDQ� EDQ\DNQ\D�

WLWLN� GHQJDQ� ZDUQD�PHUDK��0DWULNVܣ� DGDODK�PDWULNV� SDUDPHWHU� GDUL� SHZDUQDDQ�

VHPSXUQD�\DQJ GLKDVLONDQ�GDUL�VHPXD�NHPXQJNLQDQ�SHPHWDDQ�SDGD�JUDI�͵�UHJXODU�

GHQJDQ� RUGH� ���� 'HQJDQ�PHQJJXQDNDQ�PDWULNV� SDUDPHWHU� \DQJ� WHODK� GLSHUROHK�

DNDQ�GLWHQWXNDQ�DGD�WLGDNQ\D�SHZDUQDDQ�VHPSXUQD�SDGD�JUDI�0ƂELXV�.DQWRU�

.DWD�NXQFL ��݉�SHZDUQDDQ�VHPSXUQD��͵�SHZDUQDDQ�VHPSXUQD��PDWULNV�SDUDPHWHU��

JUDI�͵�UHJXODU��JUDI�0ƂELXV�.DQWRU
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7LWOH ��3HUIHFW���&RORULQJV�RI�WKH�0ƂELXV�.DQWRU *UDSK

,Q�WKH�FDVH��RI�D SHUIHFW� ͵�FRORULQJ��FRQVLGHU�FRORUV�ZKLWH��ܹ���EOXH��ܤ���$QG�UHG�

�ܴ��� ZKHUH� ȁܹȁ GHQRWHV� WKH� QXPEHU� RI� YHUWLFHV� FRORUHG� ZKLWH�� �_ܤ_ GHQRWHV� WKH�

QXPEHU�RI� YHUWLFHV� FRORUHG� UHG��DQG� _ܴ_� GHQRWHV� WKH�QXPEHU�RI� YHUWLFHV� FRORUHG�

UHG��7KH�PDWUL[ܣ� LV�WKH�SDUDPHWHU�PDWUL[�RI�WKH�SHUIHFW�FRORULQJ��REWDLQHG�IURP�

DOO� SRVVLEOH� PDSSLQJV� IRU� D� ͵�UHJXODU� JUDSK� ZLWK� RUGHU� ���� 7KH� SUHVHQFH� RI� D�

SHUIHFW� FRORULQJ� IRU� WKH� 0|ELXV�.DQWRU� JUDSK� ZLOO� EH� GHWHUPLQHG� XVLQJ� WKH�

DFTXLUHG�SDUDPHWHU�PDWUL[�

.H\ZRUGV�� 3HUIHFW�P�FRORULQJ��SHUIHFW���FRORULQJ��SDUDPHWHU�PDWUL[��JUDSK���

UHJXODU��0ƂELXV�.DQWRU�JUDSK


